B
_lAr.ulx
= D
Y O
| S
o\mm
—

19

263



No. HaEs Heant B (k3

1 1042013A001 | ROJAIHR 1

2 | 132713A200 | REOJHF 1 i | M T i N
3 1132713A300 | MHOEEe 1

4 |294513A200 | ROk 1

5 |294513B100 | RO 1

6 | 132713B009 | U4 1

7 [401022C001 | AOT7AXZ) 1

8 |401022C002 | #*#%)L& 1

9 | 042013B001 | RATJEERAR X 1

10 |0CD1006012 | k5 R/hZY 4 | M6 X 12

11 |OWB1010060 | /\ZREES 4 | M6

12 [132713B003 | RO 7—L 4

13 [294513B001 | ROTJI4R 4 27 bT4 FIIT
14 | 0BA6100612 | ARk 8 | SUS:M6 X 12
15 | OWB6010060 | /\REES 8 | SUS: M6

16 | 161926N300 | A O77rhE 1

17 | 161926N400 | RO 7FRRIkE 1 90 X 900L

18 |294520A110 | ¥EAOVH 2 | 90 x 480L

19 [132713D200 | RO Y@ 1

20 | 132602P120 | A& )bAr—REF7 1

21 1 130745C001 | SR AZILT—2R 1

22 |OND1111060 | #A FRF v k 15 | M6

23 |0JA5106203 | N7 >4 2 | 6203DDU

K1 |0BD1110612 | &4 k AHR)L b 1 M6 X 12

K2 |0BA1110820 | <&KL+ 1 M8 X 20

— 264 —




IN—Y1 X P

B RAO7 (2/2)




No. HBmES et &% &=

30 | 071013A110 | XOT#ERAO 1

31 1 071013A101 | 7—Ls 1

32 1 132907C006 | 45%REES 1 6X22X16

33 | 0CL4306006 | SATUTEIEHRD 1 M6 X 6

34 1 294513B002 | 7—U 1 ® 116

35 1 441040U101 | tEIESE 2 | AR oHERAT
35 1102613D001 | tEIESE 2 | AR v R4S
36 | 441040U102 | TEIESE 2 | g 7 ERAT
36 | 272613D001 | BREESE 2 | R v oRAT
37 0BA1110815 | 7~AMRILk 6 | M8x15

38 | 441040E001 | HMF#1 A 1 Atk 2 HeEa1~
38 | 071013D101 | #F#4 A 1 Atk 7w oa4~
39 | 441040E002 | #1441 B 1 At 2247
39 1 071013D102 = H#MF#B 1 Al 7w oz14~7
40 | 441040E100 | EHefd& ASM. 1 Ty 8 A TIEMIHHE
41 |OND1111080 | &4 FAF v b 6 | M8

42 | 070135A001 @ 7—1) 1 @ 85+ 100

43 | 071013F100 | E—H~—2X 1

44 | 4R859366-5 & E—%& 1 50Hz 7—"){¢

44 | 4R859366-6 @ E—% 1 60Hz 7—1) « VYL bMT
45 | 071013H100 | RO7 33— F 1

46 | 0DA0220028 | VYL R A-28(Lw B)| 1

47 | OWA1010080 | FEES 2 | M8

48 | OWA1010100 @ FES 1 M10

49 | OBA1111007 | ARV b 1 M10 X 140

50 'OBC1110815 | S{I/ @RI+ 4 | M8 X 15

51 | 443044A100 | HEETEHE 1

52 | 272213F001 | #fHEHE—X 1 @ 90 X 1000L

52 1 300710U001 | #fH#EHE—R 1 @ 125 X 1000L
53 SY-90 FR—2RIN R 2 ¢ 100

53 |0GL2123145 | H~—RJ/\V K 2 ¢ 125

K1 |0BD1110612 | %A bZR)L b 4 | M6 X 12

K2 | 0BA1110820 | AR b 2 M8 X 20

266



